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OVARL:=3;0VAR2:=(3)*(SMA(((CLOSE - LLV(LOW,27))/(HHV(HIGH,27) -
LLV(LOW,27)))*(100),5,1)) - (2)*(SMA(SMA(((CLOSE -
LLV(LOW,27))/(HHV(HIGH,27) -
LLV(LOW,27)))*(100),5,1),3,1)):0VAR0:=REF(LOW,1); OVAR3:=SMA(ABS(LOW-
OVARO0),13,1)/SMA(MAX(LOW-OVARO,0),13,1)*100;
OVAR4:=EMA(IF(CLOSE*1.2,0VAR3*13,0VAR3/13),13); OVAR5:=LLV(LOW,34);
OVAR6:=HHV(OVAR4,34); OVART:=IF(LLV(LOW,55),1,0):
OVARS:=EMA(IF(LOW<=0OVARS5,(OVAR4+OVAR6*2)/2,0),3)/618*OVART;
XL1:=MA(LOW,2)*0.96; XL2:=MA(LOW,26)*0.85; XL3:REF(XL1,1)
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MC3:=MA(C,3);:MC5:=MA(C,5):MC8:=MA(C,8):MC34:=MA(C,34); MC60:=MA(C,60)
‘MC120:=MA(C,120);AA:=MC3>REF(MCS3,1);BB:=MC5>REF(MC5,1);CC:=MC8>REF
(MC8,1):DD:=MC34>REF(MC34,1);EE:=MC60>REF(MC60,1): TT:=MC120>REF(MC1
20,1): 0 O :AA&&BB&&CC&&DD&&EE&&TT:

Jooboooogododbo otdotdSARObODoboon,go
Jogoogbodbdbogbooogd

1ooooooooooooo® SARODO” doooboooogooon
Joooobbooobooobouooon

200 000000000000 a=SARTURN(N,STEP,MAXP);b:=ref(a,1);b=1;0 O
N STEPMAXPU LU U OODODOOOOOOO® SARODO™ 3qUdxubonoogg?2
O0ref(a )0 10 0xO0 00 0OxOODOOOOOOOODO(
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000 O :=MA(F(L<=LLV(L,15),MA(C,20),0),3)/2;0 0 O :=IF(REF(0 O O 0 ,1)>0
AND REF(C,1)<=REF(0,1) AND 0 0 0 0 >0 AND C>0,1,0):XG:0 0 00 =1;
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MC3:=MA(C,3);MC5:=MA(C,5):MC8:=MA(C,8):MC34:=MA(C,34);:MC60:=MA(C,60)
'MC120:=MA(C,120);AA:=MC3>REF(MC3,1):BB:=MC5>REF(MC5,1):CC:=MC8>REF
(MC8,1);:DD:=MC34>REF(MC34,1):EE:=MC60>REF(MC60,1): TT:=MC120>REF(MC1
20,1); 0 O :AA&&BB&&CC&&DD&&EE&&TT;
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AA:=MA(LOW,20)+MA(LOW,20)*0.11;CROSS(CLOSE,AA);
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ref(c,2)/ref(c,3) >1.04 and ref(v,2)/ref(ma(v,5),2) >2 and o>=ref(c,2) and ref(o,1)>=ref(c,2)
and between(ref(c,1)/ref(c,2),1,1.02) and between(c/ref(c,1),1,1.02);0 0 0 00 0 00O O
OoOo0oplooooboooooooooooobooooooooo
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VARL:=(2*CLOSE+HIGH+LOW)/4;VAR2:=LLV(LOW,34);VAR3:=HHV(HIGH,34);
0 :=EMA((VAR1-VAR2)/(VAR3-VAR?2)*100,13):0 :=EMA(0.667*REF(0 ,1)+0.333*00 ,
2) , ;CROSS(0 ,20) AND [
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/neirong/TCPDF/examples/output.php?c=/article/8951984.html&n=股票红了怎么选股.pdf
/chapter/61595752.html
/read/62866124.html
/subject/67323673.html
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